
Complete each division matchup. The number with the higher quotient advances to the 
next round where it becomes the dividend and the number in the diamond is the divisor.  
Look at the example matchup below then fill out the rest of the bracket. Color in the box 
of the winner each round to keep track of who wins. Show your work.

Quotient Tournament

7 3,1643 1,377

Example:

W
IN

NE
R!

1,708

735

1,684

2,538

vs.

Because 459 is 
greater than 452, 
it goes on to the 
next bracket where 
it is divided by next 
divisor in the black 
diamond, which 
happens to be 5 in 
this case.
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